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03 Al2 201l 511 1,692 A 1,181
O=HIE= At 511 1,692 21,181
=24 ZHA(1HL) o0& 0 1,181 A 1,181
SAE 24 164,000 0 164,000
= 82,000 0 82,000
= 16,400 0 16,400
i 65,600 0 65,600
401 Al EHIZ 2 OHYI 164,000 0 164,000
= 82,000 0 82,000
S 16,400 0 16,400
= 65,600 0 65,600
01 Al Hl 162,819 0 162,819
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= 16,400 0 16,400
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—Jl=3 36,650 x5 200 36,650 34,910 1,740
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—4HEE 46,179,000 *14% 6,466 6,159 307
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01 A& H 453,356 443,356 10,000
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= 45,406 0 45,406
OZHIEXZ ALY 0 297,840 A297,840
— o DR ZH (1) 0 0 297,840 A297,840
< 0 90,000 290,000
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& 2,169 0 2,169
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—Jlezs 36,6503 1 2002 7,330 6,982 348
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01 A& HI 1,295,320 1,295,320 0
OZE3 A MY 1,295,320 1,295,320 0
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